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Q) If angles of a triangle are in the ratio 1:2:3, then
what is the ratio of its corresponding sides?

(a) 3:2:1 (b) 1:4/2:/3
V3 d) 2:4/3:
© 1:/3 2 ) 2:4/3:4
q
ADJM__’/:°?23 T:‘FA_’:_G:—"
SmA InB e
(x, 21, Bx)
W= KA = kins’= k.
ox = /8p° o4 s :
Q = g -
Lo (50 60, 90 A ,\g?__é
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Q) If angles of a triangle are in the ratio 1:2:3, then
what 1s the ratio of its corresponding sides?

(a) 3:2:1 (b) 1:4/2:4/3
©) 1:4/3:2 (d) 2:/3:4

Ans: (c)
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Q) If the angles of a AABC be in AP, then
(a) c*=a’+ b*—ab

4,8, ¢ an n AP
(b) b2=a2+62—ac/

¢) a’=b*+c* - ac D?B:étg 7
(d) b*=a”+c”
2, 2 2
wS B = A +¢ —b
dac Fct-ae =60
R e
V4 doc
aC - @2%01/[97/

’4@(1 = /800
\
9B +8 = 180°

EEEEE
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Q) If the angles of a AABC be in AP, then
(@) c2=a’+ b*—ab
(b) b*=a’+ ¢* - ac
) a’=0b*+c* - ac

(d) b = a? + ¢*

Ans: (b)
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In a triangle ABC (PYQ-2024-11)
a_ _ b __¢c 0
cosA cosB cosC % SIne 7/07'/*)!{/ ] y
What is the area of the triangle if a
a=6 cm? o2 =2 C K

Q
0
I0A s e
(a) 9v3 square cm

0

(b) 12 square cm a - ){'f/n/} 2 A - kfﬁng N kg;;)(’,
(c) 18J3 square cm g — T

(d) 24 square cm /(7!0”),4 - kefom B - k 7%7)@

Tnk = fan b = fanc
7 A-B-¢ 4 Lach QVUIQ ;g 6o = 7”0\,(7& ?S %M%Ckr /
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In a triangle ABC

a _ b _ ¢
cosA cosB cosC

What is the area of the triangle if
a=6 cm?

(a) 9v3 square cm
(b) 12 square cm
(c) 18J3 square cm

(d) 24 square cm

Ans: (a)
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In a triangle ABC, £ZA = 75° and £B = 45°,

What is 2a - b equal to? (PYQ-2024-1) A

(@) c . Ny . i
(b) 2c Sin A ﬁo& e
fe) Z2c
a - ¢
d) 22 v
@ 2ze Sinh _('IQJ)(‘,

a = (s ¢ :_\(3_t_/__c :_@LC,
(“"”"’) 33 Vo

¢060°
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In a triangle ABC, £A = 75° and £ZB =45°,
What is 2a - b equal to?

(@) c
(b) V2ec
(] Zec

(d) 2J2¢

Ans: (b)
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What 1is the general solution of - -
100 o0 (PYQ-2024-11)
cos X —sin x=17?

(@) nn_/ B :
b) G CHARY. oren mu fhiple 9/7;\

(c) 2nn S';T)Q’, -0
(@) @n+1n/2

where n is an integer.

(1/ 100_ B’W:/__ﬂ .
pdd mukigh o 1 -0 -~

Orx = -—/ n 0
| . — — =~ /"” O = /
Z(fmx = 0 (-1 ) o

Gaméfn}h(j‘ fhe 9ofne. — 4/f mw/v‘fﬂu &/ T

W\_/
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What is the general solution of
cos!00 x —sinl00 x = 17

(@) nn

(b) (2n+Yn

fc) 2nm

(d) 2n+Yn /2

where n is an integer.

Ans: (a)
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EEEEE

Q) If ABCD 1s a cyclic quadrilateral, then what is the
value of sSin A+ sin B— sinC — sin D?

(@) 0.~ (b) 1
o 2 (d) 2(sin A + sin B)
A e ;/’DA — e+ Snd— )
g o /”’A 5”7//'&‘0 A) t fan — j’/n /8’0 -B)
C 645 :__[EE $rh — Sk + Sinp — B
)

= 0

( opp amd/u Ore suff/am@n‘fow —
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Q) If ABCD 1is a cyclic quadrilateral, then what 1s the
value of sin A + sin B— sinC — sin D?

(a) O (b) 1
() 2 (d) 2(sin A + sin B)

Ans: (a)
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Q) In a AABC,a =8 b=10and c=12. What is ZC equal
to?

(2) Al2  (b) 24 (c) 34 (d)@/«:u_z_

as¢ = 0 4pt o’ WSp = b4-a"
o0 b b0 3
e S L T Ty :jfgg
§x& /0 2119 3]0 510 X2 /WW/V
- 20 -1
/6 % 10 o

SN AN
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Cos ¢

3
~

() 24

CWSA =38
7
4= wo (}_
Y
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Q) In a AABC,a =8 b=10and c=12. What is ZC equal
to?

(a) Al 2 (b) 24 (c) 3A (d) 3A/ 2

Ans: (b)
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Q) If'sin (7 cos X) = cos (7 sin X), then what is one of the values

of sin 2x ?
(a) —% ) _% _@Mfgl?} = ;?1-
© _% @ -1 -J’zuwmdq/
| + 9y 0ese = J‘f
i [‘ﬁcmx) . S’l'n(_g_—-ﬂ‘s?n?t) Snax = _.{/- -/
Toosx = _;ZI__ oML nax = —’_37_ %

VIR I —
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EXAMS

Q) If sin (7 cos X) = cos (7 sin X), then what is one of the values

of sin 2x ?

1 1
(@) I (b) -
© -3 @ -1

Ans: (c)
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Q) Let /(0) = sinO(sin6 + sin30). Then £ (0) is
(@ >0 onlywhen >0 (b) <0 forallreal 9
\9 > (0 forallreal 8 (d) <0 onlywhen 6<0(

7/[8) = Mo (S?zo& + 3990 -—0‘/§/°9)39)
)
pu “’9!/!79 (/ — flanG)

- 0 2 )
= e 08y

Y ) 5 vage — [orf_U 1) 70

990 S8
“ ((p?nzs)l ) flo) + domain — K

"
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Q) Let /(0) = sinO(sin6 + sin30). Then £ (0) is
(@ >0 onlywhen >0 (b) <0 forallreal 9
(¢) >0 forallreal 6 (d) <0 onlywhen 6<0(

Ans: (c)
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In a triangle ABC (PYQ-2024-11)

tanA+tan B+tanC=k
What is the value of :-::_ﬂtA cutEcnt(\??/{ / —
(a) 0-5k 757)/)’/0\7)3 fan(
(b) 1/k
(c) ma 7‘6‘7) '[@7‘3}7%) - 7(0,” [/HB) + Fne jm/H 7anp + fon ¢
(d) -

Lk [~ Fanp fnB B

[= fon (4+8)Fmc -
| — (7hnA+ fanB)?‘ana
/~ ﬁn‘r)/)‘fm)/f&

= i d+ faan?‘ancf — T/ fonB7ame

h'__—"----..__

[— Fanpdon 8 — TanA fane — TandFan e
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L

Fm (A+B+0) = (‘ﬁmﬂ F Tand + ’/‘anc) — fand TanB7anc
[ — FnAtmd _ Tand fan( — Tang FanA

7(6‘”[/?0‘“) - K ——J

—

j oA T8 whe = L -
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In a triangle ABC
tanA+tan B+tanC=k

What is the value of cotA cotBcotC?
(a) 0-5k

(b) 1/k
(c) 3/k
(d 1/k3

Ans: (b)
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What is sin12°sin48° equal to? (PYQ-2024—11)
(a) J5-1
4
by 4541 ;z‘/'( 39012 Siy 44°)
4 )
-3 3/0Asing = S(A+8) — wi(n-b)

fe} 8 \/ ' )
-/ ' - —8)_
" EB” - -—/CM(-%“) -00&60) ANASInB = W@)
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What is sin12°sin48° equal to?

Jv5-1
4

(a)

o

+

(b)

G,
ek

(c)

&
Yo
e

(d)

oo
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What is cosl™-sinl7* equal to? (PYQ-2024-11)

cosl7+sinl7°

(a] tan34°

03N~ Ginp  _ oy [Ma’A)

(b) cot34° Df'w“dfgy gd, 00s/3° oS A+ Sin A ,
(c) tan62° /

(¢ ) \
@ ety = o = ot T fofuay

" — CO _ ]
|+ Fop )90 | + fam 65° fan/3° Ll

= 7(0,5) (VSO_ Ho)
> o 46°

= Of (90— 26°) = of 62°
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. 17 -8inl17*
What is cos Sin equal to?
cosl7+sinl7

(a] tan34°
(b) cot34°
(c)] tan62®
(d) cot62®

Ans: (d)
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Consider the followi b :
THE mHmbers (PYQ-2024-11)

I. tan?22.5°

II. cot22.5°

III. tan22-5°-cot22.5"°

How many of the above are irrational
numbers?

(a) None
(b} Only one
(c) Only two

(d} All three
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Consider the following numbers :
. tan22.5°
II. cot22.5°

III. tan22.-5*-cot22.5°

How many of the above are irrational
numbers?

(a) None
(b} Only one
(¢} Only two

(d} All three

Ans: (c)
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EXAMS

Q) If the angles of a triangle are 30° and 45° and the included

side 1s (\/§ + 1) cm, then what 1s the area of the triangle ? A
(a) (\/g +1) cm? (b) (\/5 +3) cm? 6ot [ Ys®
300 P 45\
(©) -l—(x/§+1) cm? (d) 2(\/§+1) cm? 8 ! J’Z 5 C
2 I 72
/ (Vs4) ——
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EXAMS

Q) If the angles of a triangle are 30° and 45° and the included

side 1s (\/5 - 1) cm, then what 1s the area of the triangle ?

(a) (\/5 +1) cm? (b) (\/5 +3) cm?

(©) %(\/E'i'l) cm? (d) 2(\/§+1) cm?

Ans: (c)
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Q) On simplifying

sin° A +sin3A . cos> A —coS3A
Sin A COS A

@) sin3A (b) cos3A
(¢) sinA-+cosA (d) 3

. We get
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Q) On simplifying

si.113 A+sin3A N cos3 A —Cos3A
Sin A COS A

@) sin3A (b) cos3A
(¢) sinA-+cosA (d) 3

Ans: (d)

. We get
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Q) What is

1
sin 10°

V3

cos 10°

equal to?
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1 V3

Q) What is - equal to?
sin10°  cos 10°

Ans: (d)
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[ J1-sinx + 1+ sinx |
Q) cot™ J sTnx \/ s?nx 1s equal to
J1—31nx—\/1+81nx

(&) T—x (b) 21— x

X

X
(c) 5 (d) H_E
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r\/l—sinx+\/1+sinx—|

-1 .

Q) cot L/l—sinx—\/l+Sinlesequalto
(&) T—x (b) 21— x
© 5 @ m-

Ans: (d)
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Q) What is tan {2 tan (

3

1)} equal to?

(c)

oo | w
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Q) What is tan {2 tan ' (%)} equal to?

() (C)

AW
oo | w

Ans: (b)
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 If 4sin"!x+cos!x=m, then what is (PYQ-2024-11)
-]
sin

x+dcos” ! x equal to?
@ =n/f2

(b) =

fc} 3n/2

(d) 2n
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. If 4sin"!x+cos!x=n, then what is (PYQ-2024-1I)
-]
sin

x+dcos” ! x equal to?
@ =n/f2

(b) =

fc} 3n/2

(d) 2n

Ans: (c)
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What is cot?(sec™!2)+tan?(cosec™!3) (PYQ-2024-11)
equal to?

@ 11/12
(b} 11/24
(c) 7/24

(d} 1/24
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What is cotZ(sec™!2)+tan?(cosec™!3) (PYQ-2024-11)
equal to?

@ 11/12
(b} 11/24
(c) 7/24

(d} 1/24

Ans: (b)
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Q) What is the value of sin™ % + 2 tan
T

T T

a1,

T
(d) A
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Q) What is the value of sin™ % + 2 tan
T T T

Ans: (b)

a1,

T
(d) A
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Q) What is the value of the following?

Ly

6 7
(a) F (b) %
) 1 I

7 6
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Q) What is the value of the following?

Ly

6 7
(@) E (b) ﬁ
(©) = (d) =

Ans: (a)
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Q)If cosecO — cotd =
value of cos0?

(a) O

1
(c) 5

73

, where 0 # 0, then what 1s the

V3
(b) =

1

(d) 72
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Q)If cosecO — cotd =
value of cos0?

(a) O

1
(c) 5

Ans: (c)

73

, where 0 # 0, then what 1s the

V3
(b) =

1

(d) 72
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If

Z
cnsEl s[—m—ﬂj cus(—n+ﬂ]
3

then what is x + y+z equal to?

(PYQ-2024-11)

fa) -1
(b) O
(c) 1
(d 3
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If

Z
EDEB s[——m—ﬂj cns(—n+ﬂ)
3

then what is x + y+z equal to?

(a) -1
(b) 0O

Ans: (b)
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If ptan(@-30°)=gtan(6+120°), then (PYQ-2024-11)
what is (p+q) /(p - q) equal to?

(a) sin 28
(b) cos 26
fe) 2sin 20

(d) 2cos 206
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If ptan(@-30°)=gtan(6+120°), then
what is (p+q) /(p - q) equal to?

(a) sin 28
{b) cos 26
fe) 2sin 20

(d) 2cos 206

Ans: (d)
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Q)If 7sin 0 + 24 cos O = 25, then what is

the value of (sin© + cos0)?

26 6 31
(@) (b) > () = (d) o
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Q)If 7sin 0 + 24 cos O = 25, then what is
the value of (sin© + cos0)?

@) 1 0L ©f @

25 5 25

Ans: (d)
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